R 6 =4 1EIHIRIL =adims RETTEHE GHOFERR) THEERiERER

THE - FER - AR Btk HAL E6 s fii &
ELPE T GERE 2
1. JRML
(D)7t T
IE¥ELT K 1. 000
A (1) HE + m3 146. 000
Al GEA) #CA 1B m3 98. 000
R LI aE: S g+ i 13. 000
ERRIEHIH R - S e A | B i 50. 000
(2)IRZ AT
1)z 7Y —rHIET = 1. 000
ay 7 Y— L (KE) BB18-8-40 W/C=60% m3 170. 700
IR (L) Zgg%izomm 5. Smm % EN 3.000
RIPE T (AR) i 106. 200
4R RFRATFRE L nf 67. 100
RRET (oK) f 3.400
AT B 8157 ¢ 22mm EN 126. 000
vy bUF—7 m 48. 000
2)MEEL = 1. 000
arzU—k (&) BB18-8-40 W/C=60% m3 7.300
RIRET (&) f 24. 500
HAET (B E;gfg_fg%ﬁg&%mm i 19. 500
(3) M A BRR E T
1) B4 AR EUAT T K 1. 000
Fm BT L b (RIS SR o e e 1. 000
2) R 1T =K 1. 000
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R 6 =4 1EIHIRIL =adims RETTEHE GHOFERR) THEERiERER

TR - FER - AR Bk HANT Kok {7
ABAT v 300X 19 VS 34. 000
(4) SPEAMIET.

1) R # (%) INGE 2 AR = 1. 000
2x  AkERHE MBS 48cm A 1.000
2x  AkERE O RSTI=RE R A 1.000

2) kiR # (v /%) i 6 AR = 1. 000
b/ x (kERE M EAE 20cm S 1. 000
b /% (KERE M@ B 25cm A 1.000
/% (KERE M@ B 28cm A 1.000
b /% (KERE M@ B  3lem A 1.000
b/ x (KERE M EA 32cm A 2.000

) ERE (HEAR) NEHT AR X 1.000
MEA (bR M@ B 20cm A 1.000

4) R AL = 1. 000
sy REE m3 4.000
=TV L— R T AR m3 4. 000
PR AR m3 4. 000

2. fxL
(1) x L

1) xR T = 1. 000
=T N L— B =% 1. 000
UA F RN RREK - R =% 1. 000
U A 5 S & 1.000
TR - W & 1.000

2 )UK T =X 1. 000
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R 6 =%k

"|IHIRIL =4rmidas RE TS (EOFMERT) THEEREER
TR - FER - AR Bk HANT Kok {7
PEKE B - ik ¢ 300mm m 40. 000
E
1. JEbRE
(1) s
1) &R E 20 1.000
T THEBARIA « HHST BORE AR 3t = 2. 000
Tt
1. Zaeth
(1) =t
1) NG E K 1. 000
[ERpi i diin B8 1. 000
RN EEFTHELA 2y 1.000
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